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Diff0l1 Answers for No.9594
Ansl = (k=27), , Ans2=(k=3), , Ans3=[giﬂ, : Ans4=[2iﬂ
éf%é;; i 1=[fla)=61] ]
s 2=[f(b)=69.68, h=0.2, RateOfChange = 43.400]
AnsS = 4_'(:1 16) , Ans6=| 3=[f(c)=6527,h=0.1, RateOfChange = 42.700 ]
5 4=[f(d)=61.4207, h=0.01, RateOfChange = 42.070]
.6:4 L .5 =[RateOfChange at the point a = 42 ]
I=[fr)=27r] 1 I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = [2ﬂ(f’+h) 2711’} , , Ans8= 3 [n(r+h)2—nr2}
T h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[16n],.6=[6n]]]

JEf}

:[f(x): 4
2
.2:[f(x+h)=@}

3 Geny o35
4

4

Ans9 =

3= h
{%} 5=124/31, -6{%“_

[4_
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Diff0l1 Answers for No.9608
Ansl = (k=3), , Ans2=(k=2), ,lmmsz[“:46l ,,mw4=[“:8}
b=1 b=5
é;gé’ ‘l‘g; A =[fla)=115]
3 =,8 2=[f(b)=126.48, h =0.2, RateOfChange = 57.400 ]
AnsS = 4=(3.15) , Ans6=| .3=[f(c)=120.67, h=0.1, RateOfChange = 56.700 ]
s :’5 =[f(d)=115.5607, h=0.01, RateOfChange = 56.070 ]
- L .5 =[RateOfChange at the point a = 56| |
d=[f(r)=2nr] ] d=[f(r)=mnr"]
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3:[2n(r+h)—2nr} , , Ans8 = ; Tt(r+h)2—nr2}
: , 3= .
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[8n],.6=[4n]]]

ﬁxﬂ

:[ﬂx): 4

.2:[& +h J_(x+h)}
f<x+h> fx

4

Ans9 =

B h
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Diff0l1 Answers for No.9646
a=-37 a=3
Ansl =(k=3), , Ans2 =(k=2), , Ans3—[b:2}, , Ans4—[b:5}
S " 1=lno=17] “
L 2=[f(bh)=19.52, h =0.2, RateOfChange = 12.600]
AnsS = 4_'(_ 411y , Ans6=| 3=[f(c)=18.23, h=0.1, RateOfChange = 12.300 ]
S 4=[f(d)=17.1203, h = 0.01, RateOfChange = 12.030 ]
-2 L .5 =[RateOfChange at the point a =12 ]
d=[f(r)=2mr] ] | I=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[4n],.6=[6n]]]
_[f _«/;xﬂ
- ()C)— 4 _M_
+h a
.2=[f( h [(x ) } ,
Ans9 = f(x+h) fx . é
| —2 M
. P U
3 L T ]
{4=[%},.5=[4«/§],.6=[«/§]}
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Diff0l1 Answers for No.9649
2 a=2
Ansl = (k=50), , Ans2 =(k=2), , Ans3 = [b 2} , AnM_[sz

.2]_2((61,349)) - J=[fa)=16] _

’ _3 5 2=[1f(b)=20.20, h=0.2, RateOfChange = 21.000 ]

AnsS = 4'_ (_2 7) b , Ans6=| .3=[f(c)=18.05,h=0.1, RateOfChange = 20.500 ]
) _5 N ’3 4=[1(d)=16.2005, h =0.01, RateOfChange = 20.050 ]

s B ) L .5 =[RateOfChange at the point a =20 ]
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[fr+h)=n(r+h)’]

2=[f(r+h)=2n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= 3 n(r+h)2—nr2}
. 3= p

h
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[107],.6=[14n]]

2
oot
2= [f( +h)—[(x+h)}
(x+h) fx
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Diff0l Answers for No.9669
1 a=28
Ansl = (k=-T7), , Ans2=(k=06), , Ans3 = [b 3} , Ans4—[b:3}
.2]_2((51,382)) = _[f(a)=53] -
Sl 2=[f(h)=57.92, h=0.2, RateOfChange = 24.600 ]
AnsS = 4_'(; 1) , Ans6=| .3=[f(c)=5543, h=0.1, RateOfChange = 24.300 ]
S 4=[f(d)=53.2403, h = 0.01, RateOfChange = 24.030]
.6 B ) L .5 =[RateOfChange at the point a = 24 ]
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = _[2n(r+h)—2nr} ., Ans8= T (r+hY—n i
= p _ p
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[10n],.6=[127]]]
-7
(x)= ]
f(x+h) a
2=\f(x+h)y="7"7"""7"7- ¢
Ans9 = (x+h) fx R
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M
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X

Diff0l Answers for No.9717

a:3 a:8
Ansl =(k=-1), , Ans2 =(k=4), , Ans3—[b:_3}, , Ans4—[b:5}
.2]_2((73,491)) r [f(a)=41]
’ _3 —’8 2=[f(b)=45.96, h=0.2, RateOfChange = 24.800 ]
AnsS = 4_'(:1 14 , Ans6=| 3=[f(c)=43.44, h=0.1, RateOfChange = 24.400 ]
’ _5 _’5 4=[1(d)=41.2404, h =0.01, RateOfChange = 24.040 ]
.6:4 L .5 =[RateOfChange at the point a = 24 ]
d=[f(r)=27r] I J=[f(r)=nr]
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} , , Ans8= n(r+h)2—nr2}
- h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[6n],.6=[14n]]]
_[f _«/;xﬂ
=| o=

[Page 0006]
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ﬁ(whﬁ}
4
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Diff0l Answers for No.9763

X

[Page

0007]

a:4 a:5
Ansl =(k=15), , Ans2 =(k=2), , Ans3—[b:3}, , Ans4—[b:3}
‘21_:((;’248)) i J=[f(a)=104] |
' _3 _6 2=[f(b)=115.48, h=0.2, RateOfChange = 57.400 ]
AnsS = 4 _(_ 70 , Ans6 = =[f(c)=109.67, h=0.1, RateOfChange = 56.700 ]
_5_ ; 4=[f(d)=104.5607, h=0.01, RateOfChange = 56.070 ]
6 B ) L .5 =[RateOfChange at the point a = 56| |
d=[f(r)=27r] I J=[f(r)=nr]
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 =

L[.4

=[2n],.5=[2x],.6=[2n]].

{2n(r+h) 2nr} ,
h

=[f(x+h) =
Ans9 =

:[f(x) =

ﬁ(whﬁ}
4

, Ans8 =

TC(7’+h)2—TCI”2:|
h

ﬁxz} |

4

4

3 e

35
4
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Diff0l1 Answers for No.9877
5 a=2
Ansl = (k=-5), , Ans2=(k=3), , Ans3 = [b 2} , Ans4—[b:7}
ot " 1=lo=o] “
' _3 _ 7 2=[1f(b)=47.96, h=0.2, RateOfChange = 24.800 ]
AnsS = 4_(_3 9) , Ans6=| .3=[f(c)=45.44, h=0.1, RateOfChange = 24.400 ]
' _5 - ’3 =[f(d)=43.2404, h = 0.01, RateOfChange = 24.040 ]
6 B N L .5 =[RateOfChange at the point a =24 ]
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[10n],.6=[147]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K
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Diff0l1 Answers for No.9911
5 a=38
Ansl = (k=3), , Ans2=(k=2), , Ans3 = [b 2} , Ans4—[b:3}
'2]_: ((84’237)) | 1 =[f(a)=18] |
’ _3 _6 2=[f(b)=22.20, h=0.2, RateOfChange = 21.000 ]
AnsS = 4_(_5 6) I , Ans6=| .3=[f(c)=20.05,h=0.1, RateOfChange = 20.500 ]
) _5 N ’3 =[f(d)=18.2005, h = 0.01, RateOfChange = 20.050 ]

s B ) L .5 =[RateOfChange at the point a =20 ]
d=[f(r)=271r] ] I A =[f(r)=n] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]

Ans7 = {2n(r+h) 2nr} , , Ans8 = ; Tt(r+h)2—nr2}
o h
2n]5—[2n]6’[2ﬁﬂ [4=[2nr],.5=[4n],.6=[12n]]]

ﬁxﬂ

:[ﬂx): 4

.2:[& +h J_(x+h)}
f<x+h> fx

4

Ans9 =

B h

2] ooy o-m)]
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L[.4=

=[2n],.5=[2x],.6=[2n]].

:[f(x) =

.2:[ﬂ +h

Ans9 =

f(x+h)
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4
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4
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h

NQX® >~ X

Diff0l1 Answers for No.10027
a=-48 a=6
Ansl =(k=2), , Ans2=(k=5), , Ans3—[ bo1 }, , Ans4—[b:3}
'21_:((64’179)) i J=[f(a)=108] ]
' _3 s 2=[f(b)=119.48, h = 0.2, RateOfChange = 57.400 ]
AnsS = 4o ’ (; 12) , Ans6=| .3=[f(c)=113.67, h=0.1, RateOfChange = 56.700 ]
' 5_s =[f(d) =108.5607, h = 0.01, RateOfChange = 56.070 ]
6:4 L .5 =[RateOfChange at the point a = 56| |
A=[f(r)=2mnr] | I I=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [2n(r+h) ZRr} ., Ans8= Tc(r+h)2—nr2}
h - h

[2nr],.5=[12n],.6=[6n]]

{4_
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Diff0l Answers for No.10063
Ansl = (k=5), , Ans2=(k=4), ,Anssz[b“_zzﬂ, ,Ans4=[2iﬂ
;j;;‘f; | =[f(a)=15] ]
' ‘3 e 2=[f(b)=17.48, h=0.2, RateOfChange = 12.400 ]
AnsS = 4_'( 15) , Ans6=| 3=[f(c)=16.22, h=0.1, RateOfChange = 12.200 ]
' ‘5 5 4=[f(d)=15.1202, h = 0.01, RateOfChange = 12.020]
.6:4 L .5 =[RateOfChange at the point a = 12 ]
I=[fr)=27r] I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} , , Ans8= n(r+h)2—nr2}
B h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[4n],.6=[14n]]]
[
=| f(x)= 4 —M—
A3 (x4 a
=| e+ h)=""— p
Ans9 = I3 (e n)? 4322 : é
4 4
3= M
h U
3 54/3 LT
][]
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Diff0l1 Answers for No.10120
a:2 a:6
Ansl =(k=4), , Ans2=(k=06), , Ans3—[b:5}, , Ans4—[b:4}
'2]_: ((62 ’226)) | 1 =[fla)=29] |
' _3 _6 2=[f(b)=32.28, h=0.2, RateOfChange = 16.400 ]
AnsS = 4_(_3 5) , Ans6=| .3=[f(c)=30.62, h=0.1, RateOfChange = 16.200 ]
' _5 - ’3 =[f(d)=29.1602, h = 0.01, RateOfChange = 16.020 ]
s B ) L .5 =[RateOfChange at the point a = 16 ]
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[10n],.6=[147]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K
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Diff0l1 Answers for No.10367
a=-42 a=4
Ansl =(k=1T7), , Ans2=(k=3), , AnSS:[ bo1 }, , Ans4:[b:7}
1-G10) R
3 :’8 2=[f(b)=76.68, h=0.2, RateOfChange = 43.400 ]
AnsS = 4;(5 15) , Ans6=| 3=[f(c)=72.27,h=0.1, RateOfChange = 42.700 ]
5 :’5 4=[1(d)=68.4207, h=0.01, RateOfChange = 42.070 ]
:6=4 L .5 =[RateOfChange at the point a = 42 ] ]
d=[f(r)=2nr] | d=[f(r)=mnr"]
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = |:27I(I’+h) 27'51"} R , Ans8 = |:n(r+h)2—ﬂ:r2:|
3= f
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[6n],.6=[14n]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K
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Diff0l1 Answers for No.10372
a=-4 a=6
Ansl =(k=5), , Ans2=(k=06), , Ans3 = [b—-Z} , AnM_[b:EJ
' _3 —’8 2=[f(b)=285.20, h=0.2, RateOfChange = 41.000 ]
AnsS = 4_'(; 12) , Ans6=| .3=[f(c)=81.05h=0.1, RateOfChange = 40.500 ]
' _5 ’5 =[f(d)=77.4005, h = 0.01, RateOfChange = 40.050 ]
.6:4 L .5 = [RateOfChange at the point a = 40 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = |:27'C(I"+h) 2757'} 5 5 Ans8 = 3 ﬂ(7+h)2_nr2}
o h
2n]5—[2n]6’[2ﬁﬂ [4=[2nr],.5=[16n],.6=[4n]]]

ﬁxﬂ

:[ﬂx): 4

.2:[& +h J_(x+h)}
f<x+h> fx

4

Ans9 =

B h

2] ooy o-m)]

NQX® >~ X

{ 4 B
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Diff0l1 Answers for No.10375
a=2 a=28
Ansl = (k=-5), , Ans2 =(k=2), , Ans3—[b:1}, , Ans4—[b:3}
'éfg‘;’ ;(1); I 1=[f(a)=47] ]
' _3 _’7 2=[f(b)=54.44, h=0.2, RateOfChange = 37.200]
AnsS = 4_'(; 15) , Ans6=| .3=[f(c)=50.66,h=0.1, RateOfChange = 36.600 ]
_5 _’5 4 =[1(d)=47.3606, h=0.01, RateOfChange = 36.060 |
.6:4 L .5 = [RateOfChange at the point a = 36 ] J
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[16n],.6=[127]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K

- 9

£ 2] 0]
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Diff0l Answers for No.10426
Ansl = (k=2), , Ans2=(k=5), , Ans3:[ba_:_554}, , Ans4:[2iﬂ
' _3 —’6 2=[f(b)=22.52, h=0.2, RateOfChange = 12.600 ]
;(; 14) , Ans6=| 3=[f(c)=21.23,h=0.1, RateOfChange = 12.300 ]
_5 _’5 4=[f(d)=20.1203, 7 = 0.01, RateOfChange = 12.030]
.6:4 L .5 = [RateOfChange at the point a = 12] i
I=[fr)=27r] I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
{2n(r+h) 2nr} ., Ans8= n(r+h)2—nr2}
o h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[12n],.6=[6n]]]
ﬁf
=|f(x)= ova
f(x+h)2 a
2=\f(x+h)y="7"7"""7"7- t
Ans9 = (x+h) fx . é
M
U
L T |

5.

5] |
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Diff0l1 Answers for No.10628
a=3 a=2
Ansl =(k=17), , Ans2=(k=4), , Ans3—[b:1}, , Ans4—[b:7}
'2]_: ((85’278)) | d=[fla)=31] |
’ _3 _’7 2=[f(b)=36.04, h =0.2, RateOfChange = 25.200 ]
T Ans6=| .3 =[f(c)=33.46, h=0.1, RateOfChange = 24.600 |

2 2

4=[f(d)=31.2406, h = 0.01, RateOfChange = 24.060 ]

Ansy=| 4 (6, 12)
.5 =[RateOfChange at the point a =24 ]

5=5
. 6=4 | -
A=[f(ry=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= ; Tt(r+h)2—nr2}
3= p 3= p
[4=[2r],.5=[2x],.6=[27]]. [4=[2nr],.5=[12n],.6=[14]]]

ﬁxﬂ

A =[f(x)= 1

B h

[y o 5]

M
2
2= f(x+h)=m L;
4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
4 4 by
U
T
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Diff0l1 Answers for No.11408
a=3 a=2
Ansl =(k=06), , Ans2=(k=4), , Ans3—[b:5}, , Ans4—[b:7}
' _3 _’5 2=[f(b)=22.36, h=0.2, RateOfChange = 16.800 ]
AnsS = 4_(_3 9) , Ans6=| .3=[f(c)=20.64, h=0.1, RateOfChange = 16.400 ]
' _5_’3 4 =[1(d)=19.1604, h = 0.01, RateOfChange = 16.040 ]
.6:2 L .5 = [RateOfChange at the point a = 16 ] J
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
= . _ ;
L[4=[2=nr],.5=[12n],.6=[14x]].

L[4=[2n],.5=[2n],.6=[2n]]]

34

|

.]=[f(x)= 1 v
2
2= f(x+h)=m Ctl
4 h
Ans9 = «/g(erh)z «/gxz ) | @
S 4 4 Y,
h U
L T ]

[ 5]
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Diff0l1 Answers for No.11560
a=-19 a=38
Ansl = (k=129), , Ans2=(k=06), , AI’ZS3—|: bo1 }, , AnM_[b:J
'21_:((62’379)) | 1=[fla)=121] T
' _3 —,8 2=[f(b)=134.12, h=0.2, RateOfChange = 65.600 ]
AnsS = 4;(; 12) , Ans6=| .3=[f(c)=127.48, h=0.1, RateOfChange = 64.800 ]
' _5 _’5 =[f(d)=121.6408, h =0.01, RateOfChange = 64.080 |
‘6:4 L .5 =[RateOfChange at the point a = 64 ] il
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[10n],.6=[127]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K

- 9
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Ans9 =

f<x+h> fx

4

h

2] ooy o-m)]

NQX® >~ X

Diff0l1 Answers for No.11806
a=1 a=4
Ansl =(k=2), , Ans2=(k=4), , Ans3 = [b—-S} , AnM_[b:EJ
' _3 _’7 2=[f(b)=58.20, h=0.2, RateOfChange = 31.000]
AnsS = 4_'(; 1) , Ans6=| .3=[f(c)=55.05h=0.1, RateOfChange = 30.500 ]
' _5 _’3 4=[f(d)=52.3005, h=0.01, RateOfChange = 30.050 ]
.6:2 L .5 = [RateOfChange at the point a = 30 ] J
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = _[2n(r+h)—2nr} ., Ans8= T (r+hY—n i
= . _ ;
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[10n],.6=[147]]]
_[f _ﬁxﬂ
= ="
+h
.2=[f( “h [(x )}

‘:4
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Diff0l1 Answers for No.12219
a=43 a=2
Ansl =(k=17), , Ans2=(k=4), , AnSS—[bzz}, , Ans4—[b:4}
' _3 _6 2=[f(b)=18.52, h =0.2, RateOfChange = 12.600 ]
AnsS = 4'_ (_2 g) , Ans6=| 3=[f(c)=17.23, h=0.1, RateOfChange = 12.300 ]
' _5_’3 =[f(d)=16.1203, h = 0.01, RateOfChange = 12.030 ]

6 B N L .5 =[RateOfChange at the point a =12 ]
I=[fr)=27r] 1 I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]

Ans7 = [2ﬂ(f’+h) 2711’} , , Ans8= 3 n(r+h)2—nr2}
o h
2n]5—[2n]6’[2ﬁﬂ [4=[2nr],.5=[4n],.6=[12n]]]

ﬁxﬂ

:[ﬂx): 4

.2:[& +h J_(x+h)}
f<x+h> fx

4

Ans9 =

B h

2] s i)

NQX® >~ X
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Diff0l Answers for No.12954
a:3 a:6
Ansl =(k=4), , Ans2 =(k=4), , Ans3—[b:2}, , AnM_[b:J
’ _3 _6 2=[1f(b)=32.20, h=0.2, RateOfChange = 21.000 ]
AnsS = 4o ) (; 10) , Ans6=| .3=[f(c)=30.05,h=0.1, RateOfChange = 20.500 ]
’ S_s =[f(d) =28.2005, h = 0.01, RateOfChange = 20.050 ]
.6:4 L .5 = [RateOfChange at the point a =20 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = [27f(r+h) 27”} , , Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[12n],.6=[8]]]

JEf}

:[f(x): 4
2
.2:[f(x+h)=@}

3 Geny o35
4

4

Ans9 =

T h
]| 75

[4_
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Diff0l1 Answers for No.12964
a=>5 a=4
Ansl =(k=2), , Ans2=(k=5), , Ans3 = [b 7} , Ans4—[b:7}
S " 1=l0=9] “
' _3 —’8 2=[f(b)=66.44, h=0.2, RateOfChange = 37.200]
AnsS = 4_'(:1 13) , Ans6=| .3=[f(c)=62.66,h=0.1, RateOfChange = 36.600 ]
_5 _’5 4 =[1f(d)=59.3606, h =0.01, RateOfChange = 36.060 |
.6:4 L .5 = [RateOfChange at the point a = 36 ] J
d=[f(r)=2mr] ] | d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[6n],.6=[4n]]]

ﬁxz}
2
2= [f( +h)—[(x+h)}
(x+h) fx

(2], 28] 25]
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Diff0l1 Answers for No.12971
a=>5 a=17
Ansl = (k=-5), , Ans2 =(k=4), s Ans3—[b:2}, , Ans4—[b:3}
'2]_:((62’379)) | 1 =[fla)=16] |
' _3 —’8 2=[1(b)=20.20, h = 0.2, RateOfChange = 21.000 ]
AnsS = 4_'(; 12) , Ans6=| .3=[f(c)=18.05,h=0.1, RateOfChange = 20.500 ]
’ _5 _’5 4 =[1f(d)=16.2005, h=0.01, RateOfChange = 20.050 ]
.6:4 L .5 = [RateOfChange at the point a = 20 ]
i d=[f(r)=2nr] ] i A=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
I = h 3= f
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[4n],.6=[8n]]]

ﬁxﬂ

A =[f(x)= 1

M
2
2= f(x+h)=m L;
4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
4 4 by
U
T

T h
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Diff01 Answers for No.13023
Ansl=(k=2), , Ans2=(k=5), Ans3:[ba_:_123}, : Ans4:[2iﬂ
'21_:((94’461)) i J=[f(a)=108] ]
S 2=[f(b)=119.48, h = 0.2, RateOfChange = 57.400 ]
AnsS = 4_(_ 9) f , Ans6=| .3=[f(c)=113.67, h=0.1, RateOfChange = 56.700 ]
s 4=[f(d)=108.5607, h = 0.01, RateOfChange = 56.070 ]
6 B ) L .5 =[RateOfChange at the point a = 56| |
I=[fr)=27r] I d=[f(r)=mnr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = [27f(r+h) 27”} ., Ans8= n(r+h) —mnr
h - h
L[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[14n],.6=[4n]]]
_[f _ﬁxﬂ
=| f(x)= 4
A3 (x4
=| foe+h)="""—
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Diff0l Answers for No.13033
7 a=2
Ansl = (k=-5), , Ans2=(k=4), , Ans3 = [b 2} , Ans4—[b:5}
)53 i 1=[f(a)=16] ]
I 2=[1f(b)=18.52, h=0.2, RateOfChange = 12.600 ]

3=[f(c)=17.23,h=0.1, RateOfChange = 12.300 ]

3=6 Ans6 =| .
4=[fd)=16.1203, h = 0.01, RateOfChange = 12.030]

AnsS = 4=(2.11)] )

2 z ; L .5 =[RateOfChange at the point a =12 ]
i d=[f(r)=2nr] | | d=[f(r)=nr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = [2n(r+h) 2nr} , , Ans8= ; Tt(r+h)2—nr2}
T h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[8n],.6=[14n]]]
- «/;x2} .
:[f(x): 4 M
2 a
.2:[f(x+h)=@} t
Ans9 = I3 eeny 435 , é
_ 4 4 M
3= p U
] 2]
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Diff0l1 Answers for No.13197
a=26 a=2
Ansl =(k=9), , Ans2 =(k=2), , AnSS—[bzl}, , Ans4—[b:4}
SZ60) | 1=l -] |
’ _3 s 2=[f(b)=91.20, h=0.2, RateOfChange = 41.000 ]
AnsS = 4_(_3 g) , Ans6=| .3=[f(c)=87.05h=0.1, RateOfChange = 40.500 ]
) _5 N ’3 =[f(d) = 83.4005, h = 0.01, RateOfChange = 40.050 ]

s B ) L .5 =[RateOfChange at the point a = 40 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]

Ans7 = [27f(r+h) 27”} , , Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[12n],.6=[6n]]]

JEf}

:[f(x): 4
2
.2:[f(x+h)=@}

3 Geny o35
4

4

Ans9 =

3= h
{%},.5:[3 ﬁ],ﬁ{%ﬂ_

[4_
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Diff0l1 Answers for No.13907
a=4 a=6
Ansl = (k=-3), , Ans2 =(k=2), , Ans3—[b:4}, , Ans4—[b:3}
'21_:((;’127)) | 1 =[f(a)=106] ]
' _3 _s 2=[f(b)=117.48, h=0.2, RateOfChange = 57.400 ]
AnsS = 4_(_ 5) , Ans6=| .3=[f(c)=111.67, h=0.1, RateOfChange = 56.700 ]
_5 N % =[f(d) =106.5607, h = 0.01, RateOfChange = 56.070 ]
6 B ) L .5 =[RateOfChange at the point a = 56| |
[ A=[f(r)y=2nr] ] I d=[f(r)=mnr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = |:27I(I”+h) 2nr , ., Ans8= T (r+h): -7
L[ 4=[2nr],.5=[6n],.6=[14n]]]

[4=[2n],.5=[2x],.6=[2x]]]

ﬁxﬂ

:[f(x): 4

M
2
2= f(x+h)=m L;
4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
4 4 by
U
T

3= h
{%} 5=124/31, -6{%“_

[4_
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Diff0l1 Answers for No.13991
a=3 a=4
Ansl = (k=18), , Ans2 =(k=3), ,lmw3—[b:2l ,,%w4—[b:8}
‘21_:((85’278)) i J=[f(a)=114] |
T 2=[f(b)=125.48, h = 0.2, RateOfChange = 57.400 ]
AnsS = 4;(2 12) 0 , Ans6=| .3=[f(c)=119.67, h=0.1, RateOfChange = 56.700 ]
T =[f(d) = 114.5607, h = 0.01, RateOfChange = 56.070]
‘6:4 L .5 = [RateOfChange at the point a = 56 ] il
d=[f(r)=2mr] ] | d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = _[2n(r+h)—2nr} ., Ans8= T (r+hY—n i
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[167],.6=[107]]]
; _ﬁf
(x)= ]
f(x+h)2 a
2=|f(x+h)y=—""""" p
Ans9 = (x+h) fx .|k
@
M
U
2] ]
=7 ,.5= 5 0= |
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Diff0l1 Answers for No.14005
a=11 a=2
Ansl = (k=-6), , Ans2=(k=5), , AnSS—[bzl}, , Ans4—[b:8}
.2]_2((83,461)) - I =[fla)=25] _
’ _3 7 2=[1f(b)=30.88, h=0.2, RateOfChange = 29.400 ]
AnsS = 4_(_4 9) f , Ans6=| 3=[f(c)=27.87, h=0.1, RateOfChange = 28.700 ]
) _5 B ’3 =[f(d)=25.2807, h=0.01, RateOfChange = 28.070 ]

s B ) L .3 =[RateOfChange at the point a =28 |
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]

Ans7 = |:27I(I”+h) 2nr} , ., Ans8= ; [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[10xn],.6=[8n]]]

JEf}

:[f(x): 4
2
.2:[f(x+h)=@}

3 Geny o35
4

4

Ans9 =

T h
][5

[4_
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Diff0l Answers for No.14157

3 a=17
Ansl =(k=16), , Ans2=(k=5), , Ans3 = [b 2} , Ans4—[b:4}
250 " [0 =37] “
' _3 _’7 2=[f(b)=43.72, h=0.2, RateOfChange = 33.600 ]
AnsS = 4_(; 14) , Ans6=| .3=[f(c)=40.28, h=0.1, RateOfChange = 32.800 ]
' _5 _’5 4=[f(d)=37.3208, h =0.01, RateOfChange = 32.080 ]
.6_4 L .5 = [RateOfChange at the point a = 32 ] J
I=[fr)=27r] I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} ., AnsS= n(r+h)2—nr2}
o h
L[ 4=[27nr],.5=[8xn],.6=[147]]]

=[2n], 5—[21c] 6=[2n]]

[f(X)—

ﬁxz}
f(xuﬂ
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2= [f( +h)=

Ans9 =

(x+h)

«/7x
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